Nl e h R "
B
By A AR
T fE i H G Y oo & | HAT
V(R T
SHAEU)T  t=4. Ocm LHEEERIERS R 112.70 113.00 | m
CoffidEW)KT  t=15. Ocm LHEHERIEFRS R 4, 20 4,00 | m
SHEERRRLE t=4. Ocm LHEEERIEFRS R 77. 60 78.00 | m2
S EEE T 5 Co LT ERIEERSR 1. 10 1.00 | m3
KaEBuE T k@S 10, 30%0. 90/10. 00+1. 42%5. 00/10. 00 0. 74 1.00 | m3
BF300 [ ZRUKA KA
BEbriER:  AsHl LM ERIEERSR 3.10 3.00 | m3
AT L=4. 4kn
FE SRR ER 7 Co | LHE ERIER S 1. 10 1.00 | m3
AT L=4. 4kn
R BUERER RS | LR ERIEE SR 0. 74 1.00 | m3
R EERARTE  L=4. 4kn
WLy Ey
BERA ALER 3. 10%2. 30/1. 80 3. 96 4.00 | m3
Astl
BERA ALER 1. 10%2. 35/1. 80 1.44 1.40 | m3
45 Co
BERA ALER 0. 74%2. 50/1. 80 1.03 1.00 | m3
TR,
+T
Rk PR i LTHEEERIEERESR 55. 20 55.00 | m3
AU R 7.249.6 16. 80 17.00 | m3
¥ TE +TL7n—mR 35. 30 35.00 | m3
£ L=2. Okm
7 s AN Hi#E i 35. 30 35.00 | m3
5% [REmEEIE LM ERIEERSR 41. 90 42.00 | m2
5% [ORFEIE LT ERIEERSR 44, 10 44,00 | m2
KEKtY wHt LHEHERIEFRS R 1. 10 1.00 | m3
I RN IEi-9 A LTHEHERIERS R 19. 90 20.00 | m2




N@ B fhk R
T B AR

T f| A H A Y B & | Hdr

PEAKEEY T
H B AR ek LHHERIERS MR 3. 20 3.00 | m
W300-H300

%55 IEEAE/))-F t=bcem 0. 29%0. 10%3. 20 0.09 0.09 | m3
18-8-25BB  £350. 29mi/10m 4

55 XIELAEMA t=10cm 0. 670. 10%3. 20 0.21 0.21 | m3
RC-40 £%0.67m/10m4

B S Lk ) ) - R 1. 00%0. 10%3. 20 0.32 0.32 | m2
%1, 00m2/10m2Y4
AR MRS S | LR R RS R 44. 30 44.00 | m
W300-H300

%55 XIELAE/))-F t=bcem 0. 29%0. 10*44. 30 1.28 1.28 | m3
18-8-25BB  £350. 29mi/10m 4

%55 XIELAEMA t=10cm 0. 67%0. 10%44. 30 2. 97 2.97 | m3
RC-40 £%0.67m/10m4

5% SCILpfEay ) ) - MR 1. 00%0. 10%44. 30 4. 43 4,43 | m2
%341, 00m2/10m*4
H B AR AEEH 3.6+4. 9 8. 50 9.00 | m
W300-H400

55 XELAE)) - t=10cm 0. 570. 10%8. 50 0. 48 0.48 | m3
18-8-25BB  £350. 57m/10m 4

55 XIELAEMA t=10cm 0. 670. 10%8. 50 0.57 0.57 | m3
RC-40 £%0.67m/10m4

B S Lk ) ) - R 2. 00%0. 10%8. 50 1.70 1.70 | m2
%392, 00m2/10m>Y4
A= 18-8-25BB 0. 15%0. 10%3. 20+0. 15%0. 10%44. 30+0. 39%0. 10% (3. 6+4. 9) 1. 04 1.00 | m3
A 73— K Co
FH &A% 8. 00%3. 20/10. 00 2.56 3.00 | H
foewr A 3005 L=0. 5m
JL—F T4k T-25 |1, 00%44. 30/10. 00 4. 43 4.00 | Kt
MERIZIER 3008  L=1.Om
FH A% 8. 00%44. 30/10. 00 35. 44 36.00 | #
MERIZAIER 3008 L=0. 5m
T L—F v Tk T-25 5. 00% (3. 60+4. 90) /10. 00 4. 25 4.00 | Kt
R 3005 1=1.0m
VP $50 T HERIEESR 0. 30 1.00 | m
VPE ¢ 200 T HERIEESR 10. 20 10.00 | m
VUAALE ¢ 150 THEERIERS MR 4,00 4,00 | m
oy Y—~ NEREY | TR ERERS 0. 55 0.60 | m3
18-8-40BB
a7 Y— NEREY) |[HEX SR 0. 06 0.10 | m3
18-8-25BB
A THEERIERSR 0.6+0.3 0. 90 1.00 | m2
A an CA+PEEE T
BRI 45 T ERIERS MR 4. 80 5.00 | m3




N@ B ra & [R e~
TR RS
T f| A H =Y B & | HYr
KT
oy J— bk PNREEY) [FEERIZR 0. 40+0. 41+0. 05+0. 41 1.27 1.30 | m3
18-8-25BB
T KBS 4. T+4. 7T+0. T+4. 7 14. 80 15.00 | m2
JEEET RC40-0 GBI 1,243 3. 60 4,00 | m2
t=15. Ocm
TL—F o rhE T-26  |HEMSE 1%3 3. 00 3.00 | #%
700%700
TL—F I T-26  |[HEERSR 1. 00 1.00 | #
300%400
BT
TIEEE LT RC-40 T ERIEES R 44. 50 45.00 | m2
t=25. Ocm
BT M-25 T ERIEES R 71.50 72.00 | m2
t=10. Ocm
FIET BRI As20F| LHIERIERS T 71.50 72.00 | m2
t=4. Ocm
AstH—7 T ERIEES R 3. 20 3.00 | m
A=200cm2




IEHEBLRER NO. 1

T & |FHOFE EEAERIETE Trs
TERS| T i@ 7% 3 @ 3 3B 1 g | 22| 25 |wEwm| @ E
ERHER
ERETT
BREELTT
BE®L AL m3 1 1.1
KtamET
bz Ju 182 m3 35 35.3
EEERI
BAEmER m?2 20 19.9

B4 LEFT

EEBIE m?2 4 40.5
HEHEEEIE m?2 44 44.1
EELT
FRHE m3 55 55.2
RETHERE 1. OmR i m3 7 1.2

EELIIER 1. Om3K i m3 10 9.6




TEH=RLER NO. 2
T % & |TAOFE EEBAERESIE Trs
TERS| T i@ 7 3 @ 3 3B 1% g | 22| 25 | mEwn| @ E
HKEEMT
;gL
B B SEAE W300-H300%Y m 3 3.2
& EHE/K 1EW300-H300%! m 44 44.3
Pt70. 324& T FHW300-H400% m 4 3.6
Pt118. 2445 K7 FAW300-H400&Y | m 5 4.9
BRT
VPE ¢ 50 m 1 0.3
¢ 200 m 10 10. 2
VIEAE ¢ 150 m 4 4.0
i
avyoly-k 18-8-40BB m3 1 0.55
it 2 m?2 1 0.6
BHRERG 45 m3 5 4.8
gkt -
< hR—ILLT




TEHEREZR NO. 3
T & |FHOFE EEAERIETE Trs
IERS| T @ & 3 @ 3 1 1% g | 22| 25 | mEwn| @ E
&kt G-B300-L400-H350 Pt79. 70745l B 1 1
G-B700-L700-H600 Pt69. 0075 B 1 1
G-B700-L700-H600 Pt71. 507l B 1 1
G-B700-L700-H600 Pt116. 807 Al B 1 1
BAL
BAL

FTAh—=T A=200cm2 m 3 3.2

ERAEBRT
avy ) — MER & 1 1

BEMREL

BEYMERELT

avy- i’fﬁiﬁ%ﬂxﬁ m3 : 11
ST FRAI7IL L (t=4cm) m 113 112.7
a9 )- FEEYET  [t=15cm m 4 4.2
SHEE bR B A FRAI7IL L (t=4cm) m?2 78 77.6




TEH=RLER NO. 4
I % % FH2OERE BTEBAESETS Trs
IERs| I 7 3 @ 3 0 % g | 22| 25 | mEwn| @ E

FROER LR avo)-bk m3 1 1.1
FAI77IL & m3 3 3.1

HKEEMRET
UBRIERE BF300 m 1 0.9
M2 A B R B = ¢ 300 m 5 5.0

HET
TAI77IL hGET
HEL FHnEWN=1. 4K

TRERRiET B4E#H RC-40 (t=25cm) m?2 45 44.5
LERAET FIEEEHE M-25 (t=10cm) m?2 12 71.5
= B I BEZBHKE As 20F (t=4cm) m?2 72 71.5




TTroo—

il
BT T
IR A 0.0f—
B+ T
E¥1T > IEEEL B2 1.1
K 1B 55.2|— =1.1 <+ 0.9= 1.2
=5b.2
fEExXT
BELER RI 1.2
LTELTIER R2 9.6
=16.8 -+ 0.9= 18.7

5.2 —1.2 —18.7
= 35.3

ERLtAET
&t 35.3




TIHERHR

ZE Al | RO B = ® o i E
EELT WEELT B1 '’ 11 :
Bt EEER L m?2 19.9 20
EEEE Wi m? 40.5 41
HEIPEEEIEW m? 44. 1 44
HrTMET L amiE m? 35.3 35
3
e+ |RE €2 m 55. 2 55
BELER R 1. Omsfe m® 79 7
LELER R2 1. Omsk m’ 9.6 10




mERTBI) TIHEE
p:l| =1 BB B miE Ey * 1B fm = p:| =1 BB B miE Ey * B b

65. 35 0.0 0.0

68. 00 2.7 0.0 0.00 0.0
68. 00 0.0 0.0 0.00 0.0
72.50 4.5 0.0 0.00 0.0
72.50 0.0 0.0 0.00 0.0
74.50 2.0 0.0 0.00 0.0
88.00 13.5 0.0 0.00 0.0
100. 00 12.0 0.0 0.00 0.0
115.80 15.8 0.1 0.05 0.8
115.80 0.0 0.1 0.10 0.0
118.00 2.2 0.1 0.10 0.2
120.00 2.0 0.0 0.05 0.1
120.50 0.5 0.0 0.00 0.0

op

Ouji
—+

1.1




BT iAmEIE (L1)

EREH S

el = BB ER 15 m 1R = pil = s SR AR 15 m 1R i
88. 00 0.0
100. 00 12.0 0.3 0.15 1.8
118.00 18.0 1.5 0.90 16. 2
120. 00 2.0 0.3 0.90 1.8
120. 50 0.5 0.0 0.15 0.1
a &t 19.9




EHEEIE (W)

EREH S

A = BB B Fi5 m 18 = A = BB B Fiy m A ]
65. 35 0.0
68. 00 2.7 0.70 1.
68. 00 0.0 0.70 0.
69. 00 1.0 0.70 0.
71.00 2.0
74.50 3.5 0.70 2.
88. 00 13.5 0.70 9.
100. 00 12.0 0.70 8.
100. 00 0.0 0.70 0.
117. 30 17.3 0.70 12.
Pt70. 324@ b {AliE 3.20 0.70 2.
Pt118. 241&kR{AIE 4.50 0.70 3.
a &t 40.




HEMEMEIE (W2)

EREH S

A = BB B Fi5 m 18 = A = BB B Fiy m A ]

65. 35 0.0

68. 00 2.7 0.30 0.

68. 00 0.0 1.65 0.

12.50 4.5 2.85 12.

12.50 0.0 1. 60 0.

74.50 2.0 0.50 1.

88. 00 13.5 0.35 4.

100. 00 12.0 0.25 3.

115. 80 15.8 0.45 1.

115. 80 0.0 1.85 0.

118.00 2.2 3.10 6.

120. 00 2.0 3.15 6.

120. 50 0.5 3.20 1.

a &t 44.




ki (C2) T TIstgs=E
p:l| =1 BB B miE Ey * 1B fm = p:| =1 BB B miE Ey * B b
65. 35 0.0 0.4
68. 00 2.7 0.4 0.40 1.1
68. 00 0.0 1.6 1.00 0.0
72.50 4.5 1.9 1.75 7.9
72.50 0.0 0.9 1.40 0.0
74.50 2.0 0.9 0.90 1.8
88.00 13.5 0.8 0.85 11.5
100. 00 12.0 0.8 0.80 9.6
115.80 15.8 0.8 0.80 12.6
115.80 0.0 2.0 1.40 0.0
118.00 2.2 2.0 2.00 4.4
120.00 2.0 2.0 2.00 4.0
120.50 0.5 2.0 2.00 1.0
Pt70. 324&ER{AIiE 3.20 0.40 1.3
= it 55,2




RETHE R1:1.0mKi&)

TIHESE

A = BB i Fi5 * 1\ = A = BB i Fi * & ]

65. 35 0.0 0.1
68. 00 2.7 0.1 0.10 0.3
68. 00 0.0 0.1 0.10 0.0
69. 50 1.5 0.1 0.10 0.2
71.00 1.5 0.1
74.50 3.5 0.1 0.10 0.4
88. 00 13.5 0.1 0.10 1.4
100. 00 12.0 0.1 0.10 1.2
115. 80 15.8 0.1 0.10 1.6
115. 80 0.0 0.3 0.20 0.0
118.00 2.2 0.3 0.30 0.7
120. 00 2.0 0.1 0.20 0.4

Pt70. 324@ b {AliE 3.20 0.30 1.0

a &t 1.2




EELEERE R2:1.0mkm) LTIHEE
A = BB i Fi5 * 1\ = A = BB i Fi * & ]
65. 35 0.0 0.1
68. 00 2.7 0.1 0.10 0.3
68. 00 0.0 0.1 0.10 0.0
69. 50 1.5 0.1 0.10 0.2
71.00 1.5 0.1
74.50 3.5 0.2 0.15 0.5
88. 00 13.5 0.2 0.20 2.7
100. 00 12.0 0.2 0.20 2.4
115. 80 15.8 0.2 0.20 3.2
115. 80 0.0 0.0 0.10 0.0
118.00 2.2 0.0 0.00 0.0
120. 00 2.0 0.3 0.15 0.3
a &t 9.6




A Yebr B2 £ =
HEKEBEEYMTI #$=%E5t%K
& Al A RO X % Hfi| #1 = e =
fELT
B H4a)EEE |W300-H300E! m 3.2
FRmEHEKIE
W300-H300 2 m | 4.3
Pt70. 32%&Mr FH
W300-H400Z m 3.6
Pt118. 24%& M /A
W300-H400 % m 4.9
BET
VP $50 m 0.3
b 200 m 10. 2
VUVEAE ¢ 150 m 4.0
HE
a4 y-k  |18-8-40BB m3 | 0.55 |#Emsy
B m?2 0.6 |mismELY
BHNERA 45 m3 4.8
SKk# -
TUR—ILT
G-B300-L400-H350 e
KB b9 7084 i 1
G-B700-L700-H600 - 1
Pt69. 0075 {Al =IF
G-B700-L700-H600 e
Pt71. 50 Z{Al AT 1
G-B700-L700-H600 - 1
Pt116. 80Z{al =P




HKEBEYMT EHEE

E Al A v X [ E || HE | =
fELT | BHR4EME | W300-H300E
Pt65.35 ~  Pt68.50 =L 3.2
B EHE K LE
W300-H300% Pt72.00 ~ Pt116.30 Ef| m | 443
i
W300-H400% Pt70. 32 | m 3.6
Pt118.24 | m 4.9




HKEEYMTI BEHESE

& Al Bl B g X & B | B #E (B E
ERT
VP& ¢ 50
Pt74. 50 A m 0.3
¢ 200
Pt69.35 ~ Pt79.50 | m 10.2
WHAE ¢ 150
Pt79.90 ~ Pt83.90 | m 4.0




MEEEA

s

A = BB R Fi5 1 wm = A = BB R Fi * R i
80. 00 0.0 0.14
88.00 8.0 0.14 0.14 1.1
100. 00 12.0 0.17 0.16 1.9
110. 60 10. 6 0.17 0.17 1.8
& & 4.8




A= = K E =] £
HKEBEYNI BEEE
& 7l Al B X fd g | G| 2 |
oKkt -
T kR—ILT
G-B300-
KB L400-H350 Pt 79.70 A | &FR 1
G-B700-
L700-H600 Pt  69.00 A | &FR 1
G-B700-
L700-H600 Pt 71.50 | &R 1
G-B700-
L700-H600 Pt 116.80 | &R 1




ZAL BERHHR

1 Al Bl R & X & B L

BaL

FAHh—T A=200cm2 m

&

il




xhL BEFHFEE

& Al Bl B X & E (B HE | #E
BEL | 7AHh-J A=200cm2
Pt117.30 ~ Pt120.50 Ef| m 3.2
Bt m 3.2




EIRTEMEE T BMEEHR
3 @ 3 R =5 |a| %8
HB A RIERT
arvyly—+
fiaEy ikl




BEYMEET BEEHE

& Al Al i X % B %8
BEY
RIELT
avy)-E
IR L mi | M
SEYIET  |7A 77 |t=dem m 112.7
avy - rEETR( O ) -k t=15cm m 4.2
SHEERRERRE |7 A7 7L |t=dem m?2 77.6
FREMMLIE oV - R |ER m3 1.1
TAI77IL L3R m3 3.1
BEKAEEY
BET
UEal;E#E  (BF300 m 0.9

MR ERIERZE | ¢ 300 m 5.0




-3 P —
BEMBRET HEHEE |
e 5l i T E A A EXME ST
BiEY
HBiET
S5 -F Pt65.35 ~  Pt/0.55 = 5.2
BEYEUR SRt aELIIEL 1.00 x 5.20 - 10.0 | 51| m3 0.5
Pti19.10 ~  Pti20.00 = 0.9
100 x 090 = 100 | #&@| m3]| o1
Pt70.60 ~  Pt/9.10 A= 3.4
Coshi BREVEE L 0.15 x 3.4 8| m3| 05
= m3 1.1
. FXI7ILR
) t=dom Pt65.35 ~  Pt71.60 = 6.3 @ | m | 63
Pt72.50 ~  Pt115.80 = 433 2@ | m | 43.3
Pt65. 35 - 0.6/ | m | 06
P68. 00 - 3.2 | m | 3.2
Pt72. 50 - 25/ 1w | m | 25
Pt115. 80 - 27w | m | 2.7
P£120. 50 - 3.8/ m | 3.8
Pt65.35 ~  Pt68.00 = 27| & m | 27
Pt72.50 ~  Pt115.80 = 22| 5| m | 422
Pt114.30 ~  Pt119.60 = 5.4 5| m | 5.4
ast| m (1127
e STHU-F [CRER
7Y PR t=150m Pt70.60 ~  Pt74.80 = 42| 5| m | 42
4 TRAI77IL L |SHERBEBRAEELY
i MR t=don 8l m2 | 776
=L %
BEWLE | ., L — 1 m3 | 1.1
. T A7) E t=4cm
BERLE | 55 m 776 x 0.04 = 3. m3 | 3.1




ShEEAREERE (W3 : ShEEhRiEE)

ERH NS

B & B E 13 Tty mOE | B E BO& BB 13 1y OO i
65. 35 0.0 0.6
68. 00 2.7 0.5 0.55 1.
68. 00 0.0 3.5 2.00 0.
72.50 4.5 3.2 3.35 15.
72.50 0.0 0.8 2.00 0.
74.50 2.0 0.8 0.80 1.
88. 00 13.5 0.9 0.85 11.
100. 00 12.0 1.0 0.95 11.
115. 80 15.8 1.4 1.20 19.
115. 80 0.0 4.1 2.75 0.
118.00 2.2 4.1 4.10 9.
120. 00 2.0 3.8 3.95 7.
120. 50 0.5 3.8 3. 80 1.
SRR PR
88. 0071 0.
SRR PR
118. 0078l 1. ) 77.6




HKIBEYRETL HEHEE

7l A A B X [ UE | ER | BE
HEKiEEY
BET
UEL &
B BF300 P£t119.10 ~ Pt120.00 HEI| m 0.9
A B4 b B
B ¢ 300 Pt70. 30 T | m 50




HEL BEERHR

7 7 @ Al R 1% g g =
TAIZ7IE
WET
BB
TREEgT | BERE R0 g 44. 5| FHIIEN=1. 4K
=121 o T 71. 5| FAgRN=1. 45k
% B T |PEEAE AR 71. 5| FRIMEW=1. 45k

(t=4cm)




TAI77IIMEETL EHRAHESE

TRERET (BERARC-40) t=25cm
W2
p: Y EEEEE (m) | SE0E(m) | FHEHERE (m) | E@HE (m2) =
Z= {8l

65. 35 0.0 0.30

68. 00 2.7 0.30 0.30 0.8
12.50 0.0 0.39

115. 80 43.3 0.39 0.39 16.9

5=

68. 00 0.0 3.53

68. 50 0.5 3. 51 3.52 1.8
68. 50 0.0 3.02 3.21 0.0
69. 50 1.0 2.99 3. 01 3.0
69. 50 0.0 3.70 3.35 0.0
71.00 1.5 3. 56 3. 63 5.4
71.00 0.0 2.88 3.22 0.0
12. 00 1.0 2.79 2.84 2.8
12. 00 0.0 3.22 3. 01 0.0
12.50 0.5 3.22 3.22 1.6
115. 80 43.3 3.48

116. 30 0.5 3.48 3.48 1.7
116. 30 0.0 3.00 3.24 0.0
117.30 1.0 3.00 3.00 3.0
117.30 0.0 3.70 3.35 0.0
118. 00 0.7 3.70 3.70 2.6
119. 00 1.0 3.65 3. 68 3.7




TAI77IIMEETL EHRAHESE

TRERET (BX£MPARC-40) t=25cm
W2
P =1 HERRE (m) | $HEME (m) | FHEHERE (M) | @E (m2)
119. 40 0.4 3. 63 3. 64 1.5
120. 00 0.6 3. 60 3. 62 2.2
120. 00 0.0 3.49 3.55 0.0
120. 50 0.5 3.49 3.49 1.7
3R ERPLT0. 328 B
BB A -1.3
SHEEPRRRPE118.0
T UR—=IL -1.2
SHLETERRPL118. 248
i B B A& T A -1.7
=&t 44.5




TAI77IIMEETL EHRAHESE

ERERET (RIEAREAM-25) t=10cm
£ET (BEFHE7 R 20F)  t=don
W1
p: Y EEEEE (m) | SE0E(m) | FHEHERE (m) | EHE (m2) =
Z= {8l

65. 35 0.0 0.30

68. 00 2.7 0.30 0.30 0.8
12.50 0.0 0.39

115. 80 43.3 0.39 0.39 16.9

5=

68. 00 0.0 3. 68

68. 50 0.5 3. 66 3. 67 1.8
68. 50 0.0 3.17 3.42 0.0
69. 50 1.0 3.14 3.16 3.2
69. 50 0.0 4.05 3. 60 0.0
71.00 1.5 3. 91 3.98 6.0
71.00 0.0 3.08 3.50 0.0
72. 00 1.0 2.99 3.04 3.0
72. 00 0.0 3. 417 3.23 0.0
12.50 0.5 3.42 3.45 1.7
115. 80 43.3 3. 68

116. 30 0.5 3. 68 3. 68 1.8
116. 30 0.0 3.20 3.44 0.0
117.30 1.0 3.20 3.20 3.2
117.30 0.0 4.35 3.78 0.0
118. 00 0.7 4.35 4.35 3.0
119. 00 1.0 4.30 4.33 4.3




TAI77IIMEETL EHRAHESE

LERBET (KR AM-25) t=10cm
xET (BEZRET X2 20F) t=4cm
W1
P =1 HERRE (m) | $HEME (m) | FHEHERE (M) | mE (m2)
119. 40 0.4 4. 68 4.49 1.8
120. 00 0.6 4. 65 4.67 2.8
120. 00 0.0 3.94 4. 30 0.0
120.50 0.5 3.94 3.94 2.0
=R
65. 35 0.0 0.43
68. 00 2.1 0.43 0.43 1.2
72.50 0.0 0.50
100. 00 27.5 0.50 0.50 13. 8
115. 80 15. 8 0. 60 0.55 8.7
3R ERPLT0. 328 B
BB A -1.3
HEEIERRPLE8S. 0
T UR—=I -0.1
SHEEPRERPE118.0
T UR—=I -1.2
SHLETERRPL118. 248
i 2 B (A& T A -1.9
a5t 71.5




	数１
	数２
	数３
	数４
	数５
	数６
	数７
	数８

